C:h Determining Spinner Probability Name:

Solve each problem. Answers
1)  Which number isthe 2)  Which number isthe 3) Which number isthe
spinner least likely to spinner most likely to spinner least likely to 1
land on? land on? land on?

2.

/45@[ 1) /35@[ 3) 3,
() ()

4 3 2 1
4.
5.

4) Which two numbersis 5) Which letter isthe 6) Which letter isthe
the spinner equally likely spinner most likely to spinner least likely to 6.

to land on? land on? land on?

7.
/3: :2\ /B l, C\ 8
ap Gy

0.

10.

7)  Whichtwo lettersisthe  8) Which number isthe 9) Which two numbersis
spinner equally likely to spinner most likely to the spinner equally likely 11.
land on? land on? to land on?

12.
gm AP ;%IA
I \@/ TA:

10) Which letter isthe 11)  Which number isthe 12) Which letter isthe
spinner least likely to spinner most likely to spinner least likely to
land on? land on? land on?

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Determining Spinner Probability Name: Answer Key

Solve each problem. Answers
1)  Which number isthe 2)  Which number isthe 3) Which number isthe
spinner least likely to spinner most likely to spinner least likely to 1 2
land on? land on? land on?
2 2
/455&[ 1) /355&[ 3) 3, 4
() ()
4 3 2 1
4 1& 3
5 C
4) Which two numbersis 5) Which letter isthe 6) Which letter isthe B
the spinner equally likely spinner most likely to spinner least likely to 6.
to land on? land on? land on?
7 C&D
/3: :2\ /B l, C\ 8 3
3 1 C C
e ——
10. C
7)  Whichtwo lettersisthe  8) Which number isthe 9) Which two numbersis )
spinner equally likely to spinner most likely to the spinner equally likely 11.
land on? land on? to land on?
12 D
gm AP ;%IA
I \@/ TA:
10) Which letter isthe 11)  Which number isthe 12) Which letter isthe
spinner least likely to spinner most likely to spinner least likely to
land on? land on? land on?
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